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l. (a) What are Treasury Bills?

O) Why are the rate of interest on Treasury Bills typically very low?
(c) Explain the main objectives of the Central Bank in buying and selling Treasury Bills

3+3+9
2 (a) Distinguish between a Coupon Bond and aZeroCoupon Bond.

(b) Catcuiate tne pieJent value of a 5 year Coupon Bond with a Face Value of Rs.50000/-and coupon

rate of 6Yo if the cunent market interest is 8%.

(c) How is the present value affected if the market interest rate goes upto 9%.
3+8+4

3. (a)Discuss some of the factors that affect the demand and supply of bonds.

(b)How does a business cycle expansion affect the rate of interest through change in the demand and

supply ofbonds?
6+9

4. (a) Explain what you mean by the Term Structwe of Interest Rates.

(b) Consider the Expectations Theory of Term Structure. The one-year interest rates over the next four

years are expected to be 6Yo,7yo, 8o/o, and 9oZ respectively. Given this information, what are the

interest rates on a two-year bond and a four-year bond?

(a) Briefly discuss the Markowitz model.
(b) Solve the Markowitz problem with2 assets where 6 = 75,12 = !2,ot = 20, oz =
(c) Can you find the minimum variance problem of this portfolio

(a) Explain (without proof) what you mean by the One Fund Theorem

(b) In this context discuss what you mean by the Capital Market Line.

(c) Can you find the equation of the Capital Market Line
6+6+3

7. (a) State and Prove the Capital Asset Pricing Model'
(b) Suppose the risk free iate of return be 8o/o and the market porffolio have an expected rate of return

of 12o/o and a standard deviation of.I5Yo. Consider an asset that has a covariance of 0.045 with the

market. Find the asset B and the expected retum ofthe asset.
'10+5

8 (a) Show that a risk neutral insurance company will set an "actuarily fair" premium in a perfectly

competitive insurance market?

O) Will it continue to do so if the insurance market is imperfectly competitive?

(c) If the premium rate is "actuarily fair" show that the consumer will buy "full insurance"
6+2+7

4+11
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3+9+3
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